— RS LA
AR T B

FE a0 U A I RREE

—7 N S AT
7 T — M AR




Q3 & A¥
BT - ZFIRM 145
EEEiTE 84
{R{ZET - BFERD 39
NEY—EXDOBE 32
=8 - KA 20
HEEU O EFIHREEE 18
Z DL DREEERDOESE 17
Z D DFFIRIEESE 12
A= 9
ZDDY—ERE 6
Z Dt 32
&t 414

160

140

120

100

80

60

40

20

Q3 &




Q4 EWWHHATWBFRHDIESE

350
Q4 WMYHHATWBFEHDIESE A 300
—RFB 287 >
ZRFB 245 200
=RFB 172 150
x[E]Z 11 100
&&t 715 50

0 ]

ZR¥FBE =RFH REIZE




Q5 WHRELLTWBIEHEDRRIEEVHIHTIH»?

60.0%

49.6%

Q5 MWHELTWLWIEHEFEORRIEWHDTIH? 50.0% 47.6%
(HFIEAE) 12.6%
—RFB SR ZRFH

A
WC‘%D% 75 TN 139 141 86 30.0% o 28.0%
1t 26.4%
BPSDAEAL 74 83 65|
BESHED
= 67 12 51
&5t 280 296 202

SRABEEEHLELL BPSDH E(L SHAHEDOE
B—RFP mZRFE m=RFBE




Q6-2 6TEHEEMODEFNLTARIE?

(HE=FITAH)

FB5 | ZRFBS = RFBS

R E D= 142 134 97
TEIXDEELD

A 58 58 38

200 192 135

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

0.0%

Q6-2 6 TEEEMDEFNLEARIE?

71.9%
71.0%
0% 69.8%

IREFO) ) o)
BE—RFPH nZRFE m=RFH

30.2%
29.0% 28.1%

FERDEELDT-8




Q7 Fr A DHEFFRALTUVWET

h?
o EAEPN-
—RFB | ZRFB (= RFB
ERLTLS 84 79 56
;;E\FH LTuwi 204 170 114
288 246 170

80.0%

70.0%

60.0%

50.0%

40.0%

30.0%

20.0%

10.0%

0.0%

Q7 A4 OB EFHLTWETH?

70.8%
69.1%

32.9%
| I I
29.2%

FHLTWS FERLTULRELL
B—RFP wZRFBF m=RFH

67.1%




FedH

1) BAEEEDEAIRLSH =D, ZThIEF—R~=RFT
DITRTHOFERMETHBEL TUL T,

2) BPSDOEALIZ=RFPFTEZL AbNT=,

3) EE - NEmTcoaBIEINTIoEIFELTHY., ZDIFL
AEDBEFIHANDEREDT-HDTH >71-, DIHMEEDENLHZ
{HADLNTWBRDIZ, FEIROEELHLEEICED LT BEZFL
-HEA LK BETARBDPLED >T=-DTIIHEWHEEZ S,

4) V734 ViEROEHNES LD -1, BRHELTIEAF
A VIREBEIPBBEINTUVWEWS L THH T,

5) VA VHERHTELRWVRATOWREL LT, X2y 7
AEFEPFR CEBCIEEZITHT-C LD ENTH - 1=




HARMIEFFE E L TOHY HH

1) RIROBRHICEDI-OEEMIT 77— FREZ=ER L 7,
2) MY EADIFEFz F LHEICHERIREHZ L 7=,

3) PMESDIEH., EBEESOPIEICHEW, T4 %FEH
L8 &2x2HEHL TW5,

4>:D+ﬁ®%w%ﬁaﬁiéw¢f DENHER #E&?%F
RIEZMDICAMT B7HIC. FROF—LR=JICTYTT
ReH|IzP2RaAI (FLE, 7vt . ﬁa%)wmﬁ
~DN % L CTRIBAICER TS Z21T- 7=




